N = 0l & At & Ml A

SN BRI
HE: FOMERY(HB2IE)
chel: Tarzel CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
ELE 265,228 227,228 38,000
ZOMEH2Y(ABES) 202,486 164,486 38,000
TH &2l 92,306 54,306 38,000
A2l 89,126 51,126 38,000
401 AIEHI L 2 THHI 38,000 0 38,000
01 Al Hl 38,000 0 38,000
OFA 2% - 24 24 2 T4 38,000,000 38,000 0 38,000
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== A
N & o & AF & H Al A
M AANE3IS
HM: FOUMEHSY(AAS3S)

SRl T Atz (9 ® =)
£ Y- HA(S) - NRMY - BES Ofl & oH JEH Hns2Z
LAE3S 301,508 280,508 21,000
FUHH2 Y (AME3S) 235,210 214,210 21,000

M &k2t 2| 74,330 53,330 21,000
EAr2te| 71,160 50, 160 21,000

401 AIEBIZ 28I 21,000 0 21,000

01 A& HI 21,000 0 21,000
OLMSAESAY 2HEL AENESA

5,000,000& 5,000 0 5,000

OFAMU ALY 2/2E2Y ZA 6,000,000 6,000 0 6,000

OFALY SHEA 2|2 ZA 10,000, 000 10,000 0 10,000
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Al £ 0l & Ab & & A
S Hus
HH: FoMdH2g(HeS)
el Tearzel eEH)
SA-ZH A EA) - MFAY - BES Ol &4 Z
gBeS 169,095 4,500
FoHH2E (HHS) 132,455 4,500
Xt &b 2kel 38,785 4,500
HAr2el 35,315 4,500
401 Al HI R 2T HI 1,300 1,300
01 A2 HI 1,300 1,300
OFoldH 2o dd 54 1,300,000 1,300 1,300
405 THatF S 3,200 3,200
01 THatH 2 S F SH 3,200 3,200
OFQHdE 3oa dtedl # 3,200,000& 3,200 3,200
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12,900

7,800

Ho

ol

=

1o
ol

E)

30
OH

-

w)
fdl
ol

K-

Bl
<J

30
O
)
oll

30
0H
M0
Ho

650,000 122

no
o

K]

- 161 -



> A
A & 0l & AF 2 E A A
SN AZB3S
HE: FOME2Y(NDIS)

Sol: FOIMEBXH (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
SELE 231,781 218,521 13,260
ZOIME2Y (A B3S) 169,343 156,083 13,260

FoMERR 101,720 91,460 10,260
QA=A 18,580 10,680 7,900

405 TH&HH St 7,900 0 7,900
01 AU 2B St 7,900 0 7,900
oWz 7 500,0008! 500 0 500
oYdwIl Py 3,700,0002 *2CH 7,400 0 7,400
so2y 80,040 77,680 2,360
301 LB A 80,040 77,680 2,360
BE-ol-BEESRNS 80,040 77,680 2,360
OsSzEs243 71,240 68,880 2,360
—Jl=ay
200,000% %212 %128 +200, 0002 * 12§ x9S 52,200 50,400 1,800
- y02
200, 0002} %21 *23] +200, 00024 + 12 13| 8,600 8,400 200
—sloEaLY
20,0008 *212 %23| * 122420, 0002 12 %23] » 10,440 10,080 360
e
FOURME 2SS 26,700 23,700 3,000
2AMet 2= W 3,000 0 3,000
307 £I2+0| & 3,000 0 3,000
04 SI2HE AR X 3,000 0 3,000
Os2he 2= N2 3,000, 0002 3,000 0 3,000
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N = 0l & At & Ml A

A SUIS
FH: FMdH2E(SU1S)
=

el

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
SIS 224,278 218,068 6,210
FUHH2ZE(BU1S) 161,840 165,630 6,210
FOUNXHEH2Y 47,150 44,700 2,450
FURMXAEH 29 35,550 33,100 2,450
405 XtAtE SHI 3,450 1,000 2,450
01 AL ESFH SHI 2,450 0 2,450
O3 ot #¢ 35,000& =704 2,450 0 2,450
T &2t e 31,500 27,740 3,760
EAr2el 28,330 24,570 3,760
401 AIEHIZL 201 3,760 0 3,760
01 A& HI 3,760 0 3,760
2o e 2 HHE wH 440,000 «40H 1,760 0 1,760
O&1 B SA 2,000,000 2,000 0 2,000
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=
N = 0l & At & Ml A
SA: SRS
B FOMELSE(SU2S)

9l ZolME T e EEREED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
s2s 171,300 164,220 7,080
FRHE 2 (SUH28) 134,660 127,580 7,080
o MEX3 80,210 73,130 7,080

sg2d 66,810 59,730 7,080
301 LEE A 66,810 59,730 7,080
05S-cl-EEs=2a3 66,810 59,730 7,080

OsdasEd= 59,560 52,480 7,080
—oJl=4g
200,000 x16ZH 122 +200, 000 & 3% «9 & 43,800 38,400 5,400
— 013
200,000& » 169 »23]+200,000& «3& » 13| 7,000 6,400 600
LR
20,0003 *16H 23| 122 +20, 000 & »3H #23] » 8,760 7,680 1,080

9&
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